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Answer1
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Answer 2

4 1 5
Show that — — — = —
9 6 18

Lowest common denominator is 18
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(a) Work out 1 X 2 - _I_ﬁ = ..:.Z.‘_
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Answer4
Show that é+£=ll
owtat 4757 20
s 2 4 4,4 =RHS
6 45
5 + _\_6_.. = RHS
20 20
31 = RHS
20
N = RHS = LHS
20
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Answer5
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Answer 6

7
(b) Work out ZE -1=

Answer XX
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Answer?7

(b) Work out 1% 3

Give your answer as a mixed number in its simplest form.

Answer 8
(b) Show that = - 4 1

Dividing is the same as multiplying by the reciprocal

7 .n
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E_:x_l_?__.__Go = 15
= 3 77 56
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Answer 9

Show that E + l = 2

12 14

Multiplying by the Reciprocal is equivalent to
division

Answer10

1 1
a) Work out 1—- x2—

Give your answer as a mixed number 1n its simplest form.
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Answer1l

(b) Write the numbers 3, 4, 5 and 6 in the boxes to give the greatest possible total.
You may write each number only once.
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Answer 12

(b) Show that 51—1£=3l
4 12
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Answer13
1 1 9
(b) Show that P =
4 2 14
9 . = Inverse fraction
—’-l_—- ) multiplied is equivalent
g 2 to division
1 rx &
- -
I o 2
7y =
Answer 14
(a) Show that == 3
10 15 30

Z 10 =
9, & - RS
20 30
13 _P Hp=LHS
30
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Answer15

(a) Work out 2ix3% —3» ExVRre:sS As Lerp Haw Mﬂ (18]

Give your answer as a mixed number in its simplest form. (;Z iy
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